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Lyman-a. Forest

Lyman series: Series of energies required to excite an electron in Hydrogen
from n=1to n>2.

Lyman-o: Transition between n=1 and n=2 (\=1216 A).

Information about the universe:
- Amount of neutral Hydrogen in universe.
- Expansion of the universe

series of absorption lines in spectra of quasars.



Lyman Alpha Forest
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Method: Weighting functions
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Results

- No weighting, kmax=4, ndeg=5
—— No weighting, kmax=8, ndeg=7

—— No weighting, kmax=4, ndeg=5
= No weighting, kmax=8, ndeg=7

~—— No weighting, kmax=4, ndeg=5
= No weighting, kmax=8, ndeg=7

~—— No weighting, kmax=4, ndeg=5
—— No weighting, kmax=8, ndeg=7
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Conclusions




